19N N21VA2 QINTNDAIR VINA
DOE 102 mtvua

161 :DP'N32 190N

2772 9"RA1"T :DP'NAN NN

291 DI7N NXIAPN NAN
2INMa' DI'DAN
IPNOYWNR M

20.07.2021



PNNN N7RY

, N NMNPND YOIV VI, 10D, DNINYN YITIND 19N DY DOWINID NMITND 51 NNIIYIY PPN NNIAD DINYI NNIX

IOPVNIN ANND PPNAN DY NIVNN TIY NN X202 N DYINPUTS 1 oy pnvwd 501, mI8HmvaN muys TwaN



NIN90 10 1PV

-




Class Diagram

7'N9N YIX'A N2'20

VN NN VPMION VINYA N0

Microsoft SWAIrSim n»x51°0 Sy MOOINN

-Pythona N> NP2y N2>V 0N NN NNOVN
-Python 2 1an5> 79VHNN 1IN GOIRD JPNIN 1P YININ
AirSim oy ypwnnn

-R2 11NN TP 190X NdwNa NNONNN YTTN

ronment



122N 2NYN 1IRN

3'7nn2 woin niaTinput - 1NN

--—-- [9n1n 122 7ulidar 2 M7 viIYon NN 7y 00aNn— NYVNAN (9N N7 TN .

———- 172 NN NYIRTR NA'PY NNIN—'0'01 NAYPY 7ITin e

LN Y TR YWY rtPrd — .

, NNTTR DYI0N AT MINIY? JNYYIE JNYWR 010127 NINNX NITIRY' 0N 7Y 002NNa— NN Wwwn e
JNywn 0107 NI onprdSamplePnts — ¢

DI'P 'R 7¢ NN NYRID0N WID'NN N'AN 7Y mtith 'wn opodAzFact — e , N1'N2 N0 7V DDINN NY'NAY NIDIZN 190N N JNYWN [N1'NA— NINTPNNY NI9I7n N1 2ITin e
NILNN NX NAYY TINN91 N7X1'902 WID'N )'70N NYINA, 1NV |'RI NT'Na

AIY'NI D'I0N PNNY 717000 7Y NNTENN 7w nX7m'o 'y ny¥ia 0TIzn 9'vonn Nisi7nn ni1'na e
---- NPNN 7Y N0 DY MIYEZN 10D NID'R, NIUNA 10D NID'R, NNV 10D 7w D' Ipn DTN
nlon? ane

D'TTN 0'01 7V NIDI7NN 7w 9100 |I'¥n 17w D'Y7pwnWi1, W2, W3, W4 —

“mopnn [I'xn oy 77onn n'naW1-4 nivipwna awnnna 77pivnn o awn e
N0'0 T )N DN L : i N 77munn iy

NN oy NNRY n'x;2I9 197 NN NP2 Dy N1 (D2 |9m'7 nmTEnn NRIN NN *

1 - I L] .
NINTENA NN Miza- Vmin,do -Vmaxa nTpnn nunn (9N 11N WX 7nnn DX rxn Wwr-do 1(Vmax, Vmin)

DWIXN Dipzna Zvioa mivpnn Wix'al naonn 7w 7u191 nyINN 7 Y8 owixa T QIO'X *
o"NIIR'NMN

€€«



0'01]rull Factorial walnn niaT v 12'Na NI NTan

DOE?
high medium low ninwn
30 15 5 do
0 -10 -20 Vmin
4 2 0.5 tPrd
20 10 3 prdSamplePnts
1.8 1.6 1.3 dAzFact
- wSetld
w4 w3 w2 wl wSetID
0.4 0.3 0.2 0.1 Wsetl
0.25 0.25 0.25 0.25 Wset2
0.1 0.2 0.3 0.4 Wset3




peneltiesScor

e
(-1:0)

12 717000 TINX. °
2N ' 9NN
7271 NNONY N
NN 7y 0177
nn'

nNRXIN NYn

comScore
(0:1)

12 7170NnN TINN
72V191 NN

7V [9N7 NMIvpn
10'> N')1AN 0'02
N'7XM NIVIX

visQScore
(0:1)

¥ yxInnn |I'¥n
DI?'¥N NID'N
NIV NI7ND
VN9 NNVNNN
19NN 7V |wrNn

visScore

(0:1)

WK 717000 TINKX °
N2'PY NN
NUNN NN

10



'10'] NIXXIN







NIXRXINN DIQ'O

VisScore

VisQScore

CommScore

peneltiesScore

RMSE
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tPrd>=3

do <23

0.232
22.2%

|
tPrd>=3

d0 <23

0.0699
22.2%

[
prdSamplePnts >=7

. I | 1 I VisQScore
VisScore I n N] W D I n Q
|
| |
l tPrd>=3
<
<3 ‘ |3
| |
‘ d0 <23 d0 <10
5=23 >=23 >=10
| | | |
prdSamplePnts >=7 prdSamplePnts >=7 tPrd >=1.25
<7 <7 <1.25
0.49 0.788 0.785 0232 0.461 0.866 0.837 0.86
74% 3.7% B6.7% 22.2% 74% 3.7% 11.1% 44 4%
CommScore
\
| do <23 .
peneltiesScore >=23
|
<3 [ \
| tPrd>=3 tPrd>=3
[ <3 <3
do <23 |
>=23 >=23 !
‘ d0<10 tPrd>=1.25 prdSamplePnts >=7
‘ >=10 <7
tPrd >=1.25 ‘
<7 <1.25
03 0.186 0.237 0.262
3.7% 222% 222% 222%

0.153
7.4%

-0.393 -0.36
3.7% 2%



call:
call: . . Im{formula = visQScore ~ d0 + vmin + tPrd + prdsamplePnts + wl +
Im{formula = visScore ~ d0 + vmin + tPrd + prdsamplePnts +

K I + w3 + wd + dazFact, data = resdata)
w2 + w3 + wd + dazFact, data = resdata) InN]w n I I

Residuals: REE‘“”?15= .
Min 10 Median 30 Max Min 1q Median 3q Max

_0.532891 -0.15187 -0.01550 0.13172 0.47716 -0.57817 -0.14430 -0.00343 ©0.12354 0.51942

Coefficients: (3 not defined because of singularities) Coefficients: (3 not defined because of singularities)
Estimate std. Error t value Pri{s|t]) Estimate std. Error t value Pri=|t|)

(Intercept) 0.7303483 0.0617398 11.829 <2e-16 *** (Intercept) 0.7870824 0.0610393 12.895 < Ze-16 ***

do 0.0064358 0.0007072 9,100 <2a-1f wwe do 0.0086445 0.0006992 12.363 <« 2e-16 #*=*

vmin 0.0005038 0.0008899 0.566 0.5715 vmin 0.0001010 O.0008798 0.115 ©0.90865

tPrd -0.1345037 0.0050679 -26.540 <Ze-16 #** tPrd -0.1516331 0.00530105 -30.263 <« 2Z2e-1lh w#¥¥*

prdsamplePnts -0.0015397 0.0010416 -1.478 0.1398 prdsamplepnts -0.00301% 0.0010297 -2.932 0.00347 #*

wl 0.0361991 0.0593268 0.610 0.5419 wl 0.0247335 0.0586537 0.422 0.67338

w2 NA NA NA NA w2 NA NA NA NA

w3 NA NA NA NA w3 NA NA NA NA

wa NA NA NA Na wd NA NA NA NA

dazFact 0.0684387 0.0353611  1.935  0.0333 . dazFact 0.0608416 0.0349599 1.740 0.08223

S‘Igl"l-lf codes: Q fwewt 0 Q01 =’ Q.01 ‘%’ Q.05 ‘.7 0.1 ° "1 S_-lgr_l_if- CDdES: 0 Eowp ey P 0.001 g ? 0.01 e 0.05 l-! 0.1 [ 1

ﬁﬁ?;?;?g :E::S;:id?rrgrézgifgﬁz igjﬂgiegegtgsiagzdfreg?ggg? REEiQua1 standard error: 0.194 on 322 degrees of freedom

Fostatistic: 132.3 on 6 and 722 DF, p-value: < 2.2e-16 Mu1t1p1e B—squared: 0.5995, Adjusted R-squared: 0.5961

F-statistic: 180.1 on & and 722 DF, p-value: < 2.2e-16
call:

call:
Tm{formula = commScore ~ d0 + vmin + tPrd + prdsamplePnts + wl +
w2 + w3 + wd + dazFact, data = resdata)

Im(formula = peneltiesscore ~ d0 + vmin + tPrd + prdsamplePnts +
Wl + w2 + w3 + wd + dazrFact, data = resdata)

residuals: Residuals:

Min. 1a Median 3qQ Max Min 1q Median 3Q Max
-0.195165 -0.043032 -0.007324 0.039245 0.284308 -0.27218 -0.08958 -0.02449 0.05702 0.58236
Coefficients: (3 not defined because of singularities) Coefficients: (3 not defined because of singularities)

Estimate std. Error t wvalue Pri=[t]|) Estimate Std. Error t value Pr(x|t|)

(Intercept)  0.1958395 0.0203469  9.625  <2e-1p e (Intercept)  -0.5732557 0.0421048 -13.615 < 2e-16 ***
d0 0 0034293 0 0003331 14 845  eve 1 wws do 0.0119596 0.0004823 24.797 < 2e-16 ***
vmin 0 000201 0 0002933 -3 3217 0 0289 * vmin -0.0019456 0.0006069 -3.206 0.00141 **
tprd _0.0378428 0.0016702 -22.658 <2e-16 *%* terd -0.0711036 0.0034562 -20.573 < 2e-16 ***
prdsamplePnts -0.0007656 0.0003433 -2.230 0.0260 * prdsamplepnts -0.0011068 0.0007103 -1.5358 0.11963
i 0 0162016 0 0195517 0.829  0.4076 wl -0.0377757 0.0404593 -0.934 0.35078
w2 . NA NA NA NA w2 NA NA NA NA
w3 NA NA NA NA w3 NA NA NA NA
wd NA NA NA NA wad NA NA NA NA
dazEact 0.0105776 0.0116536 0. 908 0. 3644 dazract -0.0428762 0.0241153 -1.778 0.07583
;'I_;H'If codes: Q0 Fwex’ 0,001 %%’ Q.01 f*! Q.05 . 0.1 ¢ 1 Sign‘if. codes: 0 fEExT 0001 f¥®’ Q.01 f*T Q.05 ‘.7 0.1 T 1
Residual standard error: 0.06465 on 722 degrees of freedom Residual standard error: 0.1338 on 722 degrees of freedom
Multiple rR-squared: 0.3079, adjusted rR-squared: 0.50338 Multiple R-squared: 0.5937, Adjusted R-squared: 0.53903

F-statistic: 124.2 on 6 and 722 DF, p-value: < 2.2e-16 F-statistic: 175.8 on 6 and 722 DF, p-value: < 2.2e-16
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